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Mesopotamia
I. Introduction

Between the Tigris and Euphrates Rivers, in the Middle East lies a land once called Mesopotamia.  Mesopotamia means “land between the rivers”.  In ancient times both rivers were used for transportation, fishing and the irrigation of crops.  Today most of this region makes up the nation of Iraq.   Mesopotamia was located in an area the Fertile Crescent.  This is because Mesopotamia received rich soil from the rivers.  If you have ever seen a stream after a rainstorm you know that it looks muddy. It is carrying fine dirt called silt. When a stream runs fast it can carry a lot of silt, but when it slows down, the silt sinks to the bottom. The Tigris and Euphrates dropped a lot of silt in the river valley, especially during floods that came at least twice a year.  This silt is rich in minerals that make the crops grow healthy.  
Q1. How does the geographic context of the Fertile Crescent affect the ancient civilization of Mesopotamia? 
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Q2. How did geography affect the growth of the ancient civilization Mesopotamia? 
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Achievements of Mesopotamia

Mesopotamia did not have any natural barriers like mountains to protect from invaders; therefore, Mesopotamia could easily be invaded.  Over time, ancient peoples moved into the area over a period of about three thousand years, each conquering the other. The first inhabitants were the Sumerians (the last were the Persians). Each civilizations of Mesopotamia made lasting contributions to civilizations today
DIRECTIONS: With your group members, visit each station about Sumerian life and contributions.  Fill in the chart below explain how each aspect of Sumerian life made it an advanced civilization. 
	Achievements
	What was the PURPOSE of the Sumerians creating this achievement?

	Writing
	

	Astronomy 
	

	The Wheel
	

	Irrigation 
	


DEBATE: AGREE OR DISAGREE—Be prepared to share your answer.

Are the achievements of the Sumerians still important today? EXPLAIN. ______________________

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Regents Multiple Choice:
· Actively read the questions and answer choices

· Make connections to the question and answers

· Eliminate

· Circle correct answer

1. One reason for the development of an early civilization in the Tigris-Euphrates river valleys was that

1. the location protected the people from land invasion 

2. periodic flooding left rich soil, which was ideal for farming 

3. these rivers provided a direct trade route between Europe and Asia 

4. these rivers flowed into the Mediterranean Sea 

2. The early civilization of Mesopotamia was

1. industrialized societies 

2. monotheistic 

3. dependent on fertile land 

4. dependent on each other for trade 

3. Which is a development of the civilization of the Sumerians?

1. developed extensive writing systems 

2. emphasized equality in education 

3. established monotheistic religions 

4. encouraged democratic participation in government 

4. One reason the Euphrates and Tigris valleys became centers of early civilization is that these valleys had

1. borders and elevations that were easy to defend 
2. rich deposits of coal and iron ores 
3. the means for irrigation and transportation 
4. locations in regions of moderate climate and abundant rainfall

5. The ancient Sumerians modified their environment to increase food production by

1. building terraces 
2. removing rain forests 
3. digging irrigation canals 
4. developing chinampas
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